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Solved by nikkukun.

CVBB ACM Team - https://wiki.cvbbacm.com/


https://ac.nowcoder.com/acm/contest/5670

Last
update:
2020/07/30
22:10

gooo

2020-2021:teams:i_dont_know_png:multi2020-nowcoder-5 https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:i_dont_know_png:multi2020-nowcoder-5&rev=1596118244

gobooobobooobooobbooobobuooobood

1. 00
2. 0000000 $0%

gdodouoooouooo

goog

oo Oon
0000000000000 0000 $u,v)$0000 $utov$0OODODODOODODODOOOODODO

MSTOOODOOOO $d(u)$D sus 0000000000 $d(u)\oplusd(v)$ 00 SulMovs DO DODOO
ug

O00000000D000 KruskalOOOOODOOOODODO $d()$00 trie00000D0OO0DO MSTO
O000000O0OMSTOODODOODODO0ODODO00DOD00DO000O000O00DOD00DOD0o0oDODo0oDo0oO00n
0000000000000 $0(\legV)$0DDDDODOUODOODOODDODODDOODODDODOOODODOD

oo oooooon

C - Easy
Upsolved by nikkukun.
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$$ \begin{aligned} S &= \sum_{1\leq u < v \leg n} \mathrm{mex}(u, v) \\ &= \sum_{1 \leq x \leq
n} \left( \sum_{\mathrm{mex}(u, v) = x} x \right) \\ &= \sum_{1 \leq x \leq n} \left(
\sum_{\mathrm{mex}(u, v) \geq x} 1 \right) \\ &= \sum_{1 \leq x \leq n} f(x) \\ \end{aligned} $$
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E - Bogo Sort
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H - Interval

Upsolved by nikkukun.
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K - Git Merge
Upsolved by nikkukun.
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